PROFESSIONAL EXAMINATION BOARD

Group-2(Sub Group -4) Labour Inspector and other equivalent post
Recruitment Test

12th January 2017, 09:00 AM
Topic:- General Science

I
Question Stimulus :-

Iron cans used for storing food are electroplated with Tin because / o= H";I'Eﬂ_cl foa w9 ara Fﬁ% & fe=ai ol fea
¥ fagaa afta forar Smar 8 :if -

e Tin is more reactive than iron & prevents spoilage of food / feq ?ﬁ% | GGEL A 3rftes srfuforarsiia % 3R
W Bt W19 § A Aba 8

® Tin is less reactive than iron & prevents spoilage of food / fea Fﬁ% | LEEL # & srftifpariia % 3R HISH B TR Eﬁ#
BEEICIE

® Tin has a shiny appearance / foa Wﬁ Wﬂ'fﬁm %
e Tin is scratch resistant / fe=T @9 ufeI<h %

Correct Answer :-Tin is less reactive than iron & prevents spoilage of food / feq Fﬁ% Al LGEL o w9 sfufpaciia % 3R HieH
P TR T W TR

2)
Question Stimulus :-
Circuit is a/ W@HT %I
e Collection of cells / T BT JATS
e Complete path of the flow of electricity / faorcht & Udle &bl RTUY

e Substance which does not allow the flow of electricity easily / Wﬁﬁﬁ foorett %mﬁ 3T @ 3-1% qﬁ"f

e Device which cuts off electricity / 113[, \_rﬁ' ﬁﬁ?ﬁ Wé‘cﬂ %
Correct Answer :-Complete path of the flow of electricity / foorent a?maﬂ' WRTUY
3)
Question Stimulus :-

A boat comes to rest if we stop rowing .The force responsible for changing the state of motion of objects is / TIﬁ eH

N d¢ HR S al 19 R TRIT TR 3T A 8 1 TEI3M B 71T B a7 HY dga & T IcRerd 9a g1
* Force of Gravity / &g g
e Force of friction / THf g
e Muscular force / U%T ¥

* Magnetic force / W qc

Correct Answer :-Force of friction / T aaf



4)
Question Stimulus :-

The practice of growing Two or more different types of crops in the same field at the same time is called / TP a JHY R

TE & T A G A1 G A Sif¥ BHS I BT IATH HEATT B
e Crop rotation / X 3Tad=
e Monoculture / Uhdl ?ﬁf
e Mixed cropping / fof3a =
e Field fallow / STHI U=t
Correct Answer :-Mixed cropping / fufsa ==
5)
Question Stimulus :-
Rainfall is measured by an instrument called / auf U I gRI LIRS G % K| hedldl %
e Barometer / SRIHIEY )aTgﬂ'WFIT‘ﬂ
e Anemometer / q=ﬂ1=h1=ﬂar (ua'—mnﬂ)
e Seismograph / GiEuIINg (W—ﬁ@)
e Rain gauge / quiardt
Correct Answer :-Rain gauge / auiamd
6)
Question Stimulus :-

The instrument which measures the distance moved by the vehicle is called / 9§ SUPIUT o am?ﬁ aRTdd CIRIT
¥l 3 WU 3, FEATaT 8 -

. Speedometer/ﬂ'l?lﬂ'l"ﬁ

e Odometer / 3SR

e Thermometer / YHTHER

o Ammeter/ﬁ"ﬂ??
Correct Answer :-Odometer / 3TSIHIeY
7)
Question Stimulus :-

Some juice packages carry the warning “ Don’t eat/drink if the package is swollen” The process that leads to swelling is /

%?%ﬁﬁﬁﬁﬁmﬁ%ﬁwﬁﬁ%waa‘raﬁ@@ﬁﬂﬁla‘rmﬁﬁﬁ%ﬁwﬁr%ﬂﬁ
|

e Fermentation / fpuae
® Pasteurization / m



e Preservation / UfRR&UT

o Dehydration / feretefte=or
Correct Answer :-Fermentation / fopUa=
8)
Question Stimulus :-

The flap like valve which prevents the food from entering the wind pipe is called / dled oS Tl%q, S IS @t YT et

YA HH AAPd 5, Te PeAd &
e QOesophagus / PIGE |
« Epiglottis / TTU@ifeH 9T oG
e Mitral valve/ HIS¢C dled
e Salivary gland / €lIR hfy
Correct Answer :-Epiglottis / Q’ﬁ"?ﬁﬁﬂ Il $EBG
9)
Question Stimulus :-

The branéhy part of the tree seen above the stem is called / T & HUR femq aren 'a?:' &1 eg-IGR fg=r
hgdldl © -

Canopy / faar ar At
Cover / TARUT

Crown / RRER

Trunk / T

Correct Answer :-Crown / FRIER
10)
Question Stimulus :-

A yellow solid is used in many medicines & as a fungicide to kill harmful fungi. The yellow substance is / T

E?ﬁﬂgﬂﬁﬂéﬁﬁﬁgﬁﬁﬁ%ﬁﬁ%ﬁmmﬂaﬁmm%mm%mﬁm

Sulphur / b
Silicon / Rifere
Phosphorus / BTERIRT
Graphite / 'aTFIEE'

Correct Answer :-Sulphur / PR

11)

Question Stimulus :-



The disadvantages of sexual reproduction is / Afre w9 Bt GIﬁﬁ ?ﬂ'ﬁ % -

e The process is slower & doesn’t produce many off springs / uferar Gt gt % MR ihf IR I4— 8l
A |

e The process is slower & produce many off springs / ufepar et Eﬁ?‘ﬁ % 3R a)_é' RIS I~ Bl %I
e The process is faster& doesn’t produce many off springs / ufspar it 3 ﬁ?ﬂ% Gﬁ?’ﬁ CRIEEL R q’ﬁml
e The process is faster & produce many off springs / ufssar deit | ﬁ?ﬁ % 3T a»‘é RIS S~ Bl %’I

Correct Answer :-The process is slower & doesn’t produce many off springs / ufepar <t Eﬁ?ﬁ % 3R ﬁ R |
IA~ el B

12)
Question Stimulus :-

In which one of the following sound cannot travel? /A A fea Udh ﬁ, af=y ara -'-l'(-.pf Y gPdl?
o Steel /TS
o Oil/dd
e Vacuum/ foafa
e Air/®dl
Correct Answer :-Vacuum / foata
13)
Question Stimulus :-

The thickness of the lens in the eye is altered enabling the eye to see far & near objects clearly by / GI'\IJ@' ﬁ, g Bt

HIeTE gR 3R U 31 aegail &l WP U A ¢@ F Y 3iig ot A& q1eit 8 ERTI
e Cornea / BIf-T
o Ciliary muscles / faferarst wia=h
e Pupil / et
o Iris / UfRaTY®T
Correct Answer :-Ciliary muscles / RIfererst wiau=h
14)

Question Stimulus :-

Two organelles that have their own genetic material are / 3l PIfRsI Rt Ya E4| GJEHT&W it 8 3 7
® Golgi bodies & lysosomes / Tieol &1 Gﬁ? ?I'Ig'\‘ﬁ@'q
o Vacuoles & plastids / U R wiiRes
e Nucleus & mitochondria / ATFH® 3R W@fﬂ%ﬂT
e Cell wall & cell membrane / BT it Gﬁ? PIRMBT '%Iﬁﬂ



Correct Answer :-Nucleus & mitochondria / U@ 3R ATgCIBI~SaT
15)

Question Stimulus :-

Polythene bags are made from / U & A STA AT © -
o PET/ WA
e LDPE/UA.EL.GI.S.
 HDPE/TI.E.UL3.
o pvc/Urdt.
Correct Answer :-LDPE / TA.S1.01 8.
16)

Question Stimulus :-

Stomata, present on the leaves are surrounded by / ufral W U I 3'\‘1@' iR Eﬁﬁ %
e Chlorophyll / TR
e Guard cells / T&® BITBTT TS Aed(
e Pores /&%
e Tubes / Jd
Correct Answer :-Guard cells / T&® aﬁﬁm’q )TI'I%; I (
17)
Question Stimulus :-

The finest Indian teak is found in the forests of / WQE?I'@:I Wﬁﬂ?mﬁﬁww %I

e Satpura national park / HdyxT Tl'g']'q' e

Pachmarhi sanctuary / "Zl?m—rﬁ STHARTY

Bori sanctuarylﬁ SHYRUYg

¢ Bandipur national park / W ?T@'q e

Correct Answer :-Satpura national park / I YxT ?T@'q 1G]
18)
Question Stimulus :-

The number of chromosomes present in a normal human cell is / T ITHT ATAd PIf®T § IulRYa W C4d|

G et § -
o 44
o 46

e 48



e 50
Correct Answer :-46
19)

Question Stimulus :-

Dark colored clothes are preferred in winter because / T@ IS H’W% '\‘Tﬁtﬁ H R3] f5d o % TP -
e They do not absorb heat / 3 T S A Ha &

They absorb heat / 3 7 B =Nt Hd %

It gives better aesthetic appeal / 9§ é%a? '\‘ﬁﬂ'& CARO L] %?r %

They reflect light / ¥ UHTRI B WIGfid Hd &

Correct Answer :-They absorb heat / @ Tl ®Y ranfid Hd &

20)

Question Stimulus :-

Taj Mahal is getting damaged due to the effects of / <TSTHG I 3'\‘1%7 YAl & HRUT &faa ﬁ el %
Global warming / H:q@?ﬂ'q SSHIHRT

Green house effect / I+ eI3d UYTd

Acid rain / 3% quf

e Carbon monoxide / Wﬁtﬁ'aﬁlﬂ'\‘lﬁ_&

Correct Answer :-Acid rain / 3Tg quf

21)

Question Stimulus :-

In which one of the following is friction disadvantageous? / A 9 fog U H gfur SrerHHT %?
e Moving parts of a machine / == & afera gTrﬁ s |

Walking / CRER:|

Applying brakes / a?F F'I"Tlﬁ' i |
e Writing on the paper with a pen / H A BT R forgq A

Correct Answer :-Moving parts of a machine / =i & afea 'g\_rﬁ i |

22)

Question Stimulus :-

Which one of the following is NOT a product of destructive distillation of Coal? / IBL] A a?l'—r, P & faaraerst
SRTT FT TH TG a1 32

. Coke/ﬁﬁ'c}?
e Coal gas/ﬂﬁ'ﬂ?ﬂﬂﬂ'



e Coal tar / AIR®IA
e Charcoal / AR®IA
Correct Answer :-Charcoal / TR I
23)
Question Stimulus :-
The chemical composition of Milk of magnesia is. / AR & QY P ITAS AT % -
e Citric acid / ff¢g® ara
e Ammonium Hydroxide / HIfaH _E:'E@—'ﬂlﬁg
e Magnesium Hydroxide / AAfRrw 313@?\‘1133’
e Tartaric acid / TSN 3
Correct Answer :-Magnesium Hydroxide / AR F@m
24)
Question Stimulus :-
The constituents in Soda-Acid fire extinguisher are / ST 3 RS & Jucd 3-1% % -
e Dil. Sulphuric acid & Sodium bi carbonate solution / T TERIND A 3R WIfSTH FsHEMC faaa
e Conc. Sulphuric acid & Sodium carbonate solution /'\‘I'iﬁ?f W 3 3R Aifeaw Sratae faaa=
e Conc. Sulphuric acid & aluminum sulphate / Tifgd H?‘T{hﬂ? 3% 3R Qﬁﬁlﬁ'ﬂ'ﬁ Tqebe
e Dil. Sulphuric acid & Sodium carbonate / T TERIRD TRIS 37 3R WfETq Hrafe

Correct Answer :-Dil. Sulphuric acid & Sodium bi carbonate solution / T TeWIR® 3 3R WfEaH FIgPEHC
IEGEE]

25)
Question Stimulus :-
The brightest star in the night sky is / ITd &I ATHATT H Tad 3Ifrs THH ardm dIRT %
e Alpha Centauri / 3f¢thl A=<
e Rigel / I3
e Betelgeuse /Eﬁ%?ﬁlﬁ
e sirius / RO
Correct Answer :-Sirius / RIFGT

Topic:- General Hindi
1)

Question Stimulus :-

HHfATE H AT B-



. %8
Correct Answer :-dJo®4
2)

Question Stimulus :-

R o1 gafgarh T 2 -

Correct Answer :-3Tdll
3)
Question Stimulus :-
o HEY aTIR
o Froaras
o e
o YOI
Correct Answer :-forara®
4)
Question Stimulus :-

it Y B G 7 8 F T TP T 7-

Correct Answer ;-372N<q
5)

Question Stimulus :-



AT eg # fbe Su—rt &1 v §
o @l
e AR
o1
. 9
Correct Answer :-dT
6)
Question Stimulus :-
oq STa STa & urd ura” &1 31d 8
o qi fagr
. B
o QI ATATH
o Gl dxaw
Correct Answer :-gI=ll aTaT®
7)
Question Stimulus :-
U Veg BT Aot A fra arm A g
. PTATEAATUHIDE
o 3T & G H TP T IuAIET Feedt a1 E F
o HIUIE & HTHH F MY -GS Bt TSR 9red TR THd §
o TV HIA TOHT PR 8
Correct Answer :-ST0T& ael TUHT ST 3
8)
Question Stimulus :-
o= 9 9 faftarae areg gfeo)
o ¥ TR R T8 T
o TR SR $ Afooar WRig arsit|
o gfg ufvsd o a1 Srazy 9w d gid |
o 3Te! fopaT YR 9. =a B
Correct Answer :-ST9R WTHY $ Afowal Glg A3

9



Question Stimulus :-
fFrafafaq vfe & sdeR Ia13T :-

IHS TS IUdT IH-IH |

Correct Answer :-3[JUTH
10)
Question Stimulus :-
ATy & GgTgar oG §
° gQ', NGRS
« TEU PURY, WET
Correct Answer :--Tql, ‘l-ﬁFﬂ, 3rufyueg
11)
Question Stimulus :-

o o @ siw | @1 IegrRur gare?

Correct Answer :-UdH
12)
Question Stimulus :-
-3meferar & wead §-

o I

L

o form

o eforan



Correct Answer :-g4T
13)

Question Stimulus :-

o= 9 9 e are g
o Tigd ux foraan 31
o TigA A 81 foraan|
o A 501 8 & Aie 95 v fordl
« Hgd, v forat
Correct Answer :- HIg U= foraa g1
14)
Question Stimulus :-
el IR SIS ARTH &t go-1 § HH &R P18l a1 fp g &1 Wl fopar sman @ 2
. e g
o SfeufaRTH
o quf faRTH
. PIYD
Correct Answer :-3gfaRTH
15)
Question Stimulus :-
A @ g o1 wme e gfe
o IR W T IYE
« TR U (YSIT3i) BT 9g
o UR Figl &1 IYE
o S & | PIS T
Correct Answer :-9IR T4l (YSIT3iT) FT TG
16)

Question Stimulus :-

it T} a¥E | =41 8 T B F U U g ?



o 3YTE
Correct Answer :-Sa%d
17)
Question Stimulus :-
+ufey gt ofte §; sma € W 8 g o fr fag o &t wvaifia wvar 82
o Grere fRrgoT
o 3 foRmH
. fdwe ﬁl?-:;ﬂ
Correct Answer :-fareraqa® fug. A
18)

Question Stimulus :-

=1 Tregt ® | AT SRITATE BT SSIeRU HIT AT R 2
. ¥
. 89
. F9
. g
Correct Answer :-§
19)

Question Stimulus :-

g & A foent S o1 SerRU S AT R

Correct Answer :-fFRTER

20)

Question Stimulus :-

«3rgfar, fpmT, fpvr, dfet 371 gt vafaar wd) & wowr: 3w U 9 SR areh ufda & g3
o SrURTfa, ST, S,
o T, SURT, 3, ST



o AT, Y, T, AUTIfT
o U, T, Y, ST
Correct Answer :-3(HTd, T, 3, ST
21)
Question Stimulus :-
e # Tt &
. fa@
o fa
. R
o foam
Correct Answer :-fa@r
22)
Question Stimulus :-
Ton & faudia aragR #Ar fA § | fra deifed o1 a8t e 32
o 3T T W F3HT @reAT
o AT & Y AT ARG
o IRt IS
. Bl PIad
Correct Answer :-3{1@ & 3 ATH AR
23)
Question Stimulus :-
g T qgiaard -
o TR
. TG
-
. WY
Correct Answer :-IG
24)
Question Stimulus :-
TR g BT a0 T § 2

o T



Correct Answer :-3{Tere!
25)
Question Stimulus :-
3oqg F1 uivyTyT ford fawea /' 32
o o 1eg & 7 B &1 yar 9d
o St It & A ) ST T @
o O T BT FU A TH - W R
o 519 W3 1 ¥U 9qa &Y
Correct Answer :-foTH <7eg $T ¥U g9 TH - A1 g

Topic:- General Mathematics

1)
Question Stimulus :-

In the figure AB is a mirror, PQ) is
the incidentravand QR is the reflected rav. If

£PQR=134%, then /BQR =/ @I AB T

zdurd, PQ3aTaT Ta=or € vd OR 9Rafg

&oT & | I £PQR =134, 97 2£BQR =

l#.M

eV

Correct Answer :-
2)

Question Stimulus :-



The prime factorization of the denominator of which rational number is

of the form 2™ x 5° where 'm' and 'n' are non negative integers /| T

IRAY TEAT & § & AT OEAES 22x & ¥ A @, 60
'm° Ud N’ IHOTHS (IR THRIcAF) U &

28178531

322357
¥ i s

(2]
385

28.178531
Correct Answer :-

3)
Question Stimulus :-

The floor of a rectangular room has a perimeter 28m. If its heightis 7m, then
the cost of painting its 4 walls at the rate Rs.15/m? is / Udh HTIATHRR HHL

& He T URA 2830 §| A SR TS 7 Hio §, T T 4
GIaRT i 158e/HE &I T & Gfdar (Irs) &=y & ofEd gl :
e Rs. 3780 /3. 3780
e Rs. 2940 / 3=, 2940
¢ Rs. 4082 / 3= 4082
e Rs. 1990 /3. 1990
Correct Answer :-Rs. 2940 / ¥, 2940
4)

Question Stimulus :-

If 9%m-2 x 33m = 243 thenthe valueof m=/ AT 95=-2x 3= = 243§, ar
m & HT b

e 0

° 2

Correct Answer :-1



5)

Question Stimulus :-

If one root of the quadratic equation x? - ket +2 =0 is 2, then the other rootis /

ITg SfaaTa THRIT x2 -kx+2=0 & U #el 2 &, af 3Ied 7 BT

Correct Answer :-1
6)
Question Stimulus :-

A child is given milk in a conical bowl of diameter 6cm and height 14cm. The quantity of milk(in litres) required to serve

100 children is / T 92 B 60HI oIRT 3R 1437t S48 a0 TP 2P U | g f&an a1 100 =1 3t =i+ & forg
AT g B a4 (e #) gt
. 12.6
. 13.2
o 14.8
. 157
Correct Answer :-13.2
7)

Question Stimulus :-

{1 - cos?d) cosec’d =

-

tan-&

cot’d

Correct Answer :- 1
8)
Question Stimulus :-

If the midpoint of the line segment joining the points A(8 , 3b + 2) and B(-2, 2) is (3, 5), then the y-coordinate of A is /

famai A8, 3b +2) T B(-2, 2)ﬁﬁﬁﬁﬂ1ﬁi@@3mwwﬁg(3 5%, a9 A &1 y-FAdne 8



« 9

e -5
Correct Answer :-8
9)

Question Stimulus :-

Runs scored bv 24 batsmen in a test match are given below.

Runs: | 0-9 |10-19|20-29 | 30-39 | 40-49 | 20219

above
s 3 5 3 5 6 2
batsmen

Find the probability that a batsman selected at andom scored nums less than 30,

/

U ¢FC A9 H 24 decldiall c@il dard a0 {9 <0 foU T &

= 6-9| 10-19 | 20-25 | 30-39 |40-45 | 02nd
above
Fooldiall i
) 3 5 3 5 6 2
Tﬂ'o

50 ¥ HH T aT drer [Gelsl B ARiTod §F F T oA

QIideshdl ATd &L

11/12

/11

o 1

e 5/6
Correct Answer :-11/12
10)

Question Stimulus :-




ABisa chord of a circle with centre ‘0°_ PA and PB are tangents to the circle If

£PAB = 607, then £AOB = / 5% 'O % u& gea &7 ofiar AB #1 PA 3R PBaca
TETIET & T £PAB =600, At LAOB = P

1300
1107

1200
Correct Answer :-

11)
Question Stimulus :-

What must be added to the polynomial p(x) =2x*+4x% - 5x2+x + 2 so that the
resulting pobmomial is exactly divisible by 252 +4x-77 /

959G p(x) =2x*+ 4> - 5x+ x +2 A Tohet=r S5 3aed & i
IROMAT a596 22 +4x-7 § G X [de=a 81 e
e 3x+9
e x-2
e x+2
e 3x-9
Correct Answer :-3x - 9
12)
Question Stimulus :-

A cuboid measuring 50cm x 27cm x 20cm is melted and recast into a cube. Find the lateral surface area of cube. / T

TR, Foraast | 5ot x 278 x 209 B, 32 Fware? v u=1 9= o simat 81 w9 1 wiRdy gl
&G T Be|

3600cm? / 360089H12

4100cm?/ 41009+12

3200cm? 3200812

4400cm?/ 44009¥12



Correct Answer :-3600cm?/ 3600@1ﬂ2
13)

Question Stimulus :-

A student sitting in a class room looks at a picture on the blackboard at a height
of 2mts from the honzontal level of sight. The angle of elevation of the picture
is 30°. He moves straight towards the blackboard and looks at the picture atan

angle of elevation of 60°. Find the distance (in metres) moved by the sdent  /
v facamelf, FaTT & dom TRe & A TR @ 2 ey = W
soihdls T U HIHTD &1 5T 5| ATHd & 3397 $0T 30° £135
selehells i 3T T Sl § Ud 60° & 399 $I0T W IS &

e & facamft garr o7 #1 = gl (FHex #) A #:

4
V3
[ ]
. ’:w."g
3
[ ]
. 1+y3
4
V3

Correct Answer :-
14)
Question Stimulus :-

The median of the observations 52, 45, 28, 21, x + 7, x + 3, 10, 7, 3, 2 arranged in descending order is 15. if 10 is
replaced by 19, then the ratio of the new median to the given median is / Tl'ﬁ' mﬁ 9 A Fafd 52, 45, 28, 21, x
+7,x +3, 10, 7, 3, 2 Y0 BT HLA 15 Bl 3R 10 BI 19 | f=fd &2 four wie, a9 e A &1 e e A &

ATY SUTd R
e 3:2
e 5:4
e 6:5
e 4:1
Correct Answer :-6 : 5
15)
Question Stimulus :-

The solution of the given system of equations, x-y=-1and 2x-7y=3, is / &Y At AHIHRT YOI x - y=-1Td 2x -
Ty=3BTIEAS :

e x=2,y=1



e x=-3,y=-2

e x=-2,y=-1

e x=3,y=2
Correct Answer :-x=-2,y=-1
16)

Question Stimulus :-

The following table represents dailv record of the number of students absent in

80 days
MNo. of students absent 3 3 g8 10 12 13
No. of days 30 8 15 2 15 10

The median of the above data is /

farafafaa ofesr 80 feat # ymmRyd focafiet & 9 & 2w
Rels = g &

HAUYT B drer ATt
i T

et &r gEm 30 | 8 | 15 2 15 | 10
IISFd Hids! & 724 b

e 8

o 12

« 3

13
Correct Answer :-8
17)

Question Stimulus :-

The sum of length, breadth and height of a cuboid is 21cm and the length of its diagonal is 13cm. Then the total surface

area of the cuboid ns/wmﬁm,ﬁm%@"mﬁmmnﬁ@mﬁHMﬁmm '\ﬁ"ﬂ%l dad
YA FT o Y8 8% & :

272cm?/ 272 HE

240cm?/ 240 AR

314cm?/314 GHR

366cm? /366 THE



272cm?/ 272 THE
Correct Answer :-

18)

Question Stimulus :-

The factors of x2 -34S x + 30 are 'x2 5/5x + 0% qUumEs -
(x - 3V5)(x + 24/5)
{x - 258
(x - 3v5)x - 2v/5)
(x - 3v57

x- 35z -245
Correct Answer :- ¢ VX V9

19)
Question Stimulus :-

One card is drawn randomly from a well shuffled deck of 52 playing cards. The probability , that the card drawn is

not a black king, is / 3S31 A8 | We T, 52 AT & U & THE A IrefadddT A TP g1 fAwren simar 31 e
T T, T BTl ATGRITE Te1 8, T U1 1 &:

24
26

25
26

25
Correct Answer :- e
20)

Question Stimulus :-

Find the smallest number which when increased by 13, is exactly divisible by both 344 and 60. / 98 TaY Bl T&T
a1 forad afe 13 Terar STt 98 344 Td 60 g1 A T avg faursa g -

e 5173
e 5147

e 5153



o 5167
Correct Answer :-5147
21)

Question Stimulus :-

In the adjoining figure 'Q’is the centre of the circle and side AB is produced to
D.  ZAOC=110°  then £CBD = / &I 915 3Tl #,'0' ded &1 &g &
U4 5T AB, D @7 [o#ioT &Xcll &1 TiE 2A0C=110° 7 .CBD =

- . \\\H
{
Ty
A'\\_L A &
o
400
[ ]
35¢
[ ]
50
L]
600

Bl
Correct Answer :- ~~
22)

Question Stimulus :-

In an isosceles A PQR, PR= QR and RS is the altiade to base PQ. K PQ=2x .
RS=x-1and QR =x +1, then the perimeter of A PQR is. Wﬂﬂﬁ_ﬁﬁ'{gﬁ
PQR#A.PR=QRUd HMRPQHI A5 RS | AEPQ=2x . RS=x-1Td
QR=x+1, @A PQRFTUNHAMT & :

22¢m /22 9

18cm / 18 Y

16cm / 16 HHY

24cm /24 9

Correct Answer :-18cm / 18 ¥t

23)
Question Stimulus :-

If the line joining the points A(2a , 3b) and B(c, 2d) subtends a right angle at the origin, then / '!T% ﬁfd\?ﬁ' A(2a, 3b) wd

B(c, 2d) ! @™ arelt Y, 9o fig R e Juaivr siafed #edl 8, 99



e ac-2bd=0

e 3ab-cd=0
e ab+cd=0
e ac+3bd=0

Correct Answer :-ac +3bd =0
24)

Question Stimulus :-

9
If the volume of a sphere is = T am?, then its mdius is | ATE TF T &7

maﬁg-nﬂ#%.ﬂ’rswﬁrﬁﬂrﬁ:

2em /2 9HY
2.5cm / 2.5 QHL
1.5cm / 1.5 ¥
lem /1 9t

Correct Answer :-1.5cm /1.5 ﬁ

25)
Question Stimulus :-

Which term from the end of the A.P 33, 29, 25.......... 2 - 31is- 72 / JHIAR ARIGUT 33, 29, 25......... -31 P AdA B AT
ug -7 8?2

o gth/gqi
o 12/ 12ai
o 7th /74l
o 10th /104l
Correct Answer :-7" /7 di

Topic:- General English
1)

Question Stimulus :-

Complete the sentence choosing the right form of Prefix:

I calculated; Ram had given me the correct change.
e dis
e under

® over



* mis
Correct Answer :-mis
2)
Question Stimulus :-

Choose the option that is closest in meaning to the highlighted word in the given sentence:

The film director asked the writer to give a concise summary of his story.
e brief
e total
e detailed
e elaborate
Correct Answer :-brief
3)
Question Stimulus :-

Choose the option that best transforms the given sentence without changing its meaning:

While there is life there is hope.

¢ Life and hope are inseparable.

e Where there is life there can be hopes.

e Life is there with hope.

¢ Hope and life are there when there is life.
Correct Answer :-Life and hope are inseparable.
4)
Question Stimulus :-

Choose the option that best transforms the sentence into its Direct / Indirect form:

She complained that nothing ever grew in her garden. She added that it never got any sun.’
e ‘Nothing grows in my garden. It never got any sun,’ she said.
e ‘Nothing grows in my garden. It never gets any sun,’ she said.
e ‘Nothing ever grew in her garden. It never got any sun,’ she said.
¢ She said, ‘Nothing ever grew in her garden. It never got any sun.’

Correct Answer :-‘Nothing grows in my garden. It never gets any sun,’ she said.



5)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

Everybody sixteen this town is earning money a regular basis.
e at, along, through
e under, on, from
® over, in, on
¢ by, in, at
Correct Answer :-over, in, on
6)
Question Stimulus :-

Choose the option that best transforms the sentence into its Direct / Indirect form:

I stopped a man in the street and asked him to help me find my way to the bus terminus.
e ‘Would you help me find my way to the bus terminus?’
e ‘Will you be able help me find my way to the bus terminus?’
e ‘Can you help me find my way to the bus terminus?’
e ‘Could you help me to find my way to the bus terminus?’
Correct Answer :-“Would you help me find my way to the bus terminus?’
7)
Question Stimulus :-

Choose the option that best transforms the sentence into its other voice:

They are marketing their product more imaginatively this season.

e Their product is being marketed more imaginatively this season.

e They have been marketing their product more imaginatively this season.

e Their product is marketed more imaginatively this season.

e Their product is being marketed more imaginatively this season by them.
Correct Answer :-Their product is being marketed more imaginatively this season.
8)

Question Stimulus :-

Choose the option that best transforms the given sentence without changing its meaning:



A senseless man repeats his mistake.
e Man, if he is senseless, never repeats his mistake.
e Do senseless men never repeat mistake?
e A senseless man never repeats his mistake.
¢ A sensible man never repeats his mistake.
Correct Answer :-A sensible man never repeats his mistake.
9)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

The country suffers skilled labour.
e with want of
e from want in
e by want in
e for want of
Correct Answer :-for want of
10)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

My sister has decided to with me.
* move to
* move in
e move from
* move at
Correct Answer :-move in
11)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

That route is dangerous; , we have no guide.

o likewise



e consequently

e besides

e however
Correct Answer :-besides
12)
Question Stimulus :-

Choose the option that best fills in to complete the given sentence::

He here from 1955 to 1960.
e worked
e is working
e has been worked
e works
Correct Answer :-worked
13)
Question Stimulus :-

Choose the option that best punctuates the given sentence:

Marc loved many sports such as soccer swimming tennis and polo
e Marc loved many sports, such as, soccer, swimming, tennis, and polo.
e Marc loved many sports, such as soccer, swimming, tennis, and polo.
e Marc loved many sports such as, soccer, swimming, tennis, and polo.
e Marc loved many sports; such as - soccer, swimming, tennis, and polo.
Correct Answer :-Marc loved many sports, such as, soccer, swimming, tennis, and polo.
14)
Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

He has not been well since last Christmas.
e He has not been
e well
e since last Christmas.

e No error



Correct Answer :-well
15)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

The book is not perfect; , it is very helpful.
e further
¢ however
o likewise
e then
Correct Answer :-however
16)
Question Stimulus :-

Choose the correct form of verb that is in agreement with the subject:

Either my friend or my brothers me out every day.
e take
e takes
e has took
e taken
Correct Answer :-take
17)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

The team worked not only consistently  carefully.
e likewise
e besides
e but also
* moreover

Correct Answer :-but also

18)



Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

The backbone of the single-humped camel is not curved upward in the middle, like many people suppose.
e The backbone of the single-humped camel
e is not curved upward
e in the middle,
¢ like many people suppose.
Correct Answer :-like many people suppose.
19)
Question Stimulus :-

Choose the most suitable determiner for the given sentence:

employees in IT sector shift jobs.
e Much
e Most
e Little
e Less
Correct Answer :-Most
20)
Question Stimulus :-

Choose the option that best punctuates the given sentence:

I name my son William as the executor of my estate
e I name my son William, as the executor of my estate.
¢ I, name my son, William, as the executor of my estate.
e | name my son, William, as the executor of my estate.
e | name my son “William”- as the executor of my estate.

Correct Answer :-I name my son, William, as the executor of my estate.

Topic:- RC_General English
1)

Question Stimulus :-

Read the paragraph and answer the following question



Both plants and animals of many sorts show remarkable changes in form, structure, growth, habits and even
mode of reproduction in becoming adapted to different climatic environment, types of food supply, or mode
of living. This divergence in response to evolution is commonly expressed by altering the form and function
of some part or parts of the organism, the original identity of which is clearly discernible. For example, the
creeping foot of the snail is seen in related marine pteropods to be modified into a flapping organ useful for
swimming, and is changed into prehensile arms that bear suctorial disks in the squids and other
cephalopods. The limbs of modes of life for swift running (cursorial) as in the horse and antelope, for
swinging in trees (arboreal) as in the monkeys for digging (fossorial) as in the moles and gophers, for flying
(Volant) as in the bats, for swimming (aquatic) as in the seals, whales and dolphins, and for other
adaptations. The structures or organs that show main change in connection with this adaptive divergence are
commonly identified readily as homologous, in spite of great alterations. Thus, the finger and wristbones of a
bat and whale, for instance, have virtually nothing in common except that they are definitely equivalent
elements of the mammalian limb.

Which is the most appropriate title for the passage, based on its content?
e Evolution
e Our changing bodies
e Adaptive divergence
e Changes in organs
Correct Answer :-Adaptive divergence
2)
Question Stimulus :-

Read the paragraph and answer the following question

Both plants and animals of many sorts show remarkable changes in form, structure, growth, habits and even
mode of reproduction in becoming adapted to different climatic environment, types of food supply, or mode
of living. This divergence in response to evolution is commonly expressed by altering the form and function
of some part or parts of the organism, the original identity of which is clearly discernible. For example, the
creeping foot of the snail is seen in related marine pteropods to be modified into a flapping organ useful for
swimming, and is changed into prehensile arms that bear suctorial disks in the squids and other
cephalopods. The limbs of modes of life for swift running (cursorial) as in the horse and antelope, for
swinging in trees (arboreal) as in the monkeys for digging (fossorial) as in the moles and gophers, for flying
(Volant) as in the bats, for swimming (aquatic) as in the seals, whales and dolphins, and for other
adaptations. The structures or organs that show main change in connection with this adaptive divergence are
commonly identified readily as homologous, in spite of great alterations. Thus, the finger and wristbones of a
bat and whale, for instance, have virtually nothing in common except that they are definitely equivalent
elements of the mammalian limb.

The author organizes the passage by
e Comparison and contrast
* General statements followed by examples
e Hypothesis and proof

e Definition of key terms



Correct Answer :-General statements followed by examples
3)
Question Stimulus :-

Read the paragraph and answer the following question

Both plants and animals of many sorts show remarkable changes in form, structure, growth, habits and even
mode of reproduction in becoming adapted to different climatic environment, types of food supply, or mode
of living. This divergence in response to evolution is commonly expressed by altering the form and function
of some part or parts of the organism, the original identity of which is clearly discernible. For example, the
creeping foot of the snail is seen in related marine pteropods to be modified into a flapping organ useful for
swimming, and is changed into prehensile arms that bear suctorial disks in the squids and other
cephalopods. The limbs of modes of life for swift running (cursorial) as in the horse and antelope, for
swinging in trees (arboreal) as in the monkeys for digging (fossorial) as in the moles and gophers, for flying
(Volant) as in the bats, for swimming (aquatic) as in the seals, whales and dolphins, and for other
adaptations. The structures or organs that show main change in connection with this adaptive divergence are
commonly identified readily as homologous, in spite of great alterations. Thus, the finger and wristbones of a
bat and whale, for instance, have virtually nothing in common except that they are definitely equivalent
elements of the mammalian limb.

The author’s style can best be described as
e Objective
e Humorous
e Esoteric
e Patronizing
Correct Answer :-Objective
4)
Question Stimulus :-

Read the paragraph and answer the following question

Both plants and animals of many sorts show remarkable changes in form, structure, growth, habits and even
mode of reproduction in becoming adapted to different climatic environment, types of food supply, or mode
of living. This divergence in response to evolution is commonly expressed by altering the form and function
of some part or parts of the organism, the original identity of which is clearly discernible. For example, the
creeping foot of the snail is seen in related marine pteropods to be modified into a flapping organ useful for
swimming, and is changed into prehensile arms that bear suctorial disks in the squids and other
cephalopods. The limbs of modes of life for swift running (cursorial) as in the horse and antelope, for
swinging in trees (arboreal) as in the monkeys for digging (fossorial) as in the moles and gophers, for flying
(Volant) as in the bats, for swimming (aquatic) as in the seals, whales and dolphins, and for other
adaptations. The structures or organs that show main change in connection with this adaptive divergence are
commonly identified readily as homologous, in spite of great alterations. Thus, the finger and wristbones of a
bat and whale, for instance, have virtually nothing in common except that they are definitely equivalent
elements of the mammalian limb.



Which of the following words could best be substituted to ‘homologous’ without substantially changing the
author’s meaning?

e Divergent

e Corresponding

e Altered

e Tactile
Correct Answer :-Corresponding
5)
Question Stimulus :-

Read the paragraph and answer the following question

Both plants and animals of many sorts show remarkable changes in form, structure, growth, habits and even
mode of reproduction in becoming adapted to different climatic environment, types of food supply, or mode
of living. This divergence in response to evolution is commonly expressed by altering the form and function
of some part or parts of the organism, the original identity of which is clearly discernible. For example, the
creeping foot of the snail is seen in related marine pteropods to be modified into a flapping organ useful for
swimming, and is changed into prehensile arms that bear suctorial disks in the squids and other
cephalopods. The limbs of modes of life for swift running (cursorial) as in the horse and antelope, for
swinging in trees (arboreal) as in the monkeys for digging (fossorial) as in the moles and gophers, for flying
(Volant) as in the bats, for swimming (aquatic) as in the seals, whales and dolphins, and for other
adaptations. The structures or organs that show main change in connection with this adaptive divergence are
commonly identified readily as homologous, in spite of great alterations. Thus, the finger and wristbones of a
bat and whale, for instance, have virtually nothing in common except that they are definitely equivalent
elements of the mammalian limb.

The author provides information that would answer which of the following questions:

(D) What factors cause change in organism?
(IT) What is the theory of evolution?
(IIT) What are the various types of structures or organs showing functional divergence?
e (I) Only
e (II) only
e (I) and (III) only
e (I), (II) and (III)
Correct Answer :-(I) and (ITI) only

Topic:- General Knowledge

1)

Question Stimulus :-



Industrial disaster in is considered the “World’s worst industrial disaster”. / | 'g"sc Arenfire

3muer, "fay & ad 7€) sienfire smuer ATt wTel 81
e Bhopal / YT
e Dhanbad / Y-dTq
e Visakhapatnam / ICRUECINRE L
e Saurashtra / ﬁ?’l’g
Correct Answer :-Bhopal / vure
2)
Question Stimulus :-

The youngest chief economist at International Monetary Fund was . GI?RTI'@T[ Hal PV H I $9 Y
& BT Y=L q|

e Devdutt Pattanaik / éaﬁ LCIRED
e Satya Nadella / I Jedr
e Raghuram Rajan / TYITH o1
e Sundar Pichai / gex fUaTg
Correct Answer :-Raghuram Rajan / YYRTH 1ol
3)
Question Stimulus :-
Right to Information Act was passed in year ___ ./ JdT SfYPR e-rfﬁﬁuw, T _ H urfya forar war ari
e 2002
e 2003
e 2004
e 2005
Correct Answer :-2005
4)
Question Stimulus :-

National park is the only floating park in the world. / AR 'CI'I*, fay =1 URHTA GEGIRCGIE]

(FATET Urh) 71

Keibul Lamjao / $3gc ATHSIISN
Jim Corbett / f5H ﬁﬁz

Anshi / 3i=ft

Betla / SddT



Correct Answer :-Keibul Lamjao / W GILEIE
5)

Question Stimulus :-

river is known as the lifeline of Madhya Pradesh. / A B AT USKT DI Silaq 3@ B U H
AT SATelT &

Mahanadi / H@T-IG!
Tapti / aradt
Narmada / qﬂﬂT
Betwa / Sl

Correct Answer :-Narmada / T-I'FTET

6)
Question Stimulus :-

was the Captain of Indian cricket team when it won 1983 World Cup. / HIRd GIRT 1983 I fay ®u

Sfia & R, HRAT firde &0 & s A
e Rahul Dravid / g9 &fdS
e Saurav Ganguly / TR TITﬂﬂ’f
e Kapil Dev/ a?ﬁﬂ%a
e Sachin Tendulkar / G ﬁg?ﬁ»‘{
Correct Answer :-Kapil Dev / Pfueed
7)
Question Stimulus :-

is the most indebted state in India as per RBI’s study in 2016. / 2016 ﬁ, YR od 8 & sremaa &
ITAR YR H T 3P HIRRA 79 gl

Uttar Pradesh / 3xI¥ ‘;Ia"\’T

Maharashtra / HEIRTY
Andhra Pradesh / SH‘HQ%QT

Assam / STIH

Correct Answer :-Maharashtra / HgIRTY
8)

Question Stimulus :-

Given below are a few dance forms belonging to different states, pick the correct pair? / ra o fafr o qur qgi g

HafId Ta-+U 3T 7T § | O Sis &1 999 B
e Kerala - Ghumura Dance /W—mﬂw



e Maharashtra - Lavani / w- arquit

e Madhya Pradesh - Dollu Kunitha / mqu%.sa-sﬁq?«ﬂm

e Arunachal Pradesh - Bihu dance / WU&QT—%EW
Correct Answer :-Maharashtra - Lavani /W - @rquft
9)
Question Stimulus :-

The Bansagar dam was named after Bana Bhatt, a . qdIuTHS & T W Y BT +TH,
TR XM T 4T

o Sanskrit poet / J¥Pd Pfq
e Urdu singer /@W
e Sportsman / m
e King / XTSIl
Correct Answer :-Sanskrit poet / H&pd B
10)
Question Stimulus :-
is the most populous state of India. / HIRd I ot ST ara XY, %I

Tamil Nadu / AfI@Tg

Rajasthan / XTSTRITA

Madhya Pradesh | AT

Uttar Pradesh / 3xI¥ ‘;Ia"\’T

Correct Answer :-Uttar Pradesh / 3T} 'Q'a'QT
11)
Question Stimulus :-

National Milk day is celebrated on the birthday of , father of the white revolution. / ﬂﬁm QY feaw, 9a
Hifd & TS & ST W HATIT &1l g

e M.S. Swaminathan / @WWW

* Verghese Kurien / mﬁagﬁ‘qﬂ

e M.B. Nirmal / T}, fda

e Anupam Mishra / JUH Rrsm
Correct Answer :-Verghese Kurien / Fiffs @'ﬁ'q:[
12)

Question Stimulus :-



Which of these Gharanas does not belong to Madhya Pradesh? / fFrrafafEd wme d S S ar ORI, AU |
ST §oHT T &2

. Maihar/ﬁ??

e Gwalior / TR

e Kirana / foRm=T

e Senia / Sf T
Correct Answer :-Kirana / fBTT
13)

Question Stimulus :-

At which one of these places is Kumbh Mela not held? /ﬁqﬁrﬁa A fPaRAWR gﬂf T AT Mfora qﬁ
grar g2

e Ujjain / I=

o Nashik / ATRI®

e Allahabad / Sclleldlq

e Sanchi /gl
Correct Answer :-Sanchi / i<t
14)
Question Stimulus :-

Nimar Utsav is held in the month of Kartik on a night. /ﬁl’ﬂ'lg Id SIS & qﬁﬁ | PIId BT
maifora farar sar g |

No moon / HIAHT

Solar eclipse / '\‘I&QE'UT
Full moon / Eﬁhﬁ
e Lunar eclipse / G5UgUT

Correct Answer :-Full moon / JfotuTeft
15)
Question Stimulus :-

is an organic matter obtained from the living creatures of the sea like the mollusks and oysters. /

oo ofew vard & For oYY e i, S W) WO @ T e o 1
e Sapphire / TraHOT

Quartz / PTES

Pearl / Tt

Opal / gIFIT 4R



Correct Answer :-Pearl / Ald
16)
Question Stimulus :-
is also known as the Bismarck of India. / &I HRd & fo e & =g A Y S=1 SIran %I
e Mahatma Gandhi / FgTHT Tl
e Sardar Vallabhbhai Patel / GRGIR IeTHHTS Ud
e Pandit Jawaharlal Nehru / Uf&d Sldrerdid ﬁ'(.:'\s
« Bhagat Singh / Y7Td g
Correct Answer :-Sardar Vallabhbhai Patel / ¥dRGQIR awrmn'é e
17)
Question Stimulus :-
Which is India’s highest waterfall? / HIRd BT I AT JTaquTd Gkl %?
o Angel Falls / USTdl STTqdTd
e Kunchikal Falls / $fIed sravard
e Jog Falls / ST STayare
e Vantawng Falls / a=d¥T STaquTd
Correct Answer :-Kunchikal Falls / Tﬁlﬁ STerydrd
18)

Question Stimulus :-

Who appoints the Chairman of the Union Public Service Commission? / 9 A AT STANT & A BY ﬁ'ﬂ'%
B AT 82

e Union Public Service Commission Senior officers / ¥€ ?ﬁﬁ'\aﬂT GI'ITﬁ'lT a? 'q'ng G'I'Rﬁ)'l'\&
e Prime Minister / HUTHHAT
e President / Tl'gtlﬁf
e None of the above / SURad § | ﬁ'é: q'(ﬁ
Correct Answer :-President / ?T@'qﬁf
19)
Question Stimulus :-

was the first musician to be awarded the “Bharat Ratna”. / "HYIRd Id" ﬁ T Eﬁﬁ

q1d Ugd Siaer A1
e Ravi Shankar / Ifa=i®

e Lata Mangeshkar / €dT TR



e Bismillah Khan / ﬁ'@m ECIG)
e M.S. Subbulakshmi / TH.QH. gegaaH
Correct Answer :-M.S. Subbulakshmi / @Ww&iﬂ
20)
Question Stimulus :-
State is on the South of Madhya Pradesh. /
e Assam / 3HH
. Maharashtra/'ﬁ?'RTg
e Himachal Pradesh/%ﬂ'ﬁlﬁm
e Bihar / ﬁ?’ﬂ'
Correct Answer :-Maharashtra / HgIRTY
21)

Question Stimulus :-

4, A U & Sfor A g1

Gitanjali is a collection of poems by . /m, g1 forat Tl'é Hfaarsii 1 Uh '\‘Tﬂ?%l

e Rabindranath Tagore / ATy IR

e Taslima Nasrin / THETHT TEIH

¢ Sunil Gangopadhyay / ﬁ:ﬂﬁ TaTeATy

e Bankim Chandra Chatterjee | §fpw dg Teoif
Correct Answer :-Rabindranath Tagore / ATy TR
22)

Question Stimulus :-

is the longest river in Madhya Pradesh. / 'FI'?IITI%'QT | m wdl T'IT.‘.‘:f %I

Tapti / dTGH
Chambal / I§d

Narmada / qﬁﬂT
Son / @7'[

Correct Answer :-Narmada / q’ﬂET

23)

Question Stimulus :-

Madhya Pradesh consists of % of forest area of India. / HIRd & I ?33[ Cal % 833[, qmﬁ %I

e 12.30



e 35.60

e 29.50

e 42,40
Correct Answer :-12.30
24)
Question Stimulus :-

What are the colours of the five interlocking rings of the Olympic Games? / SNafre Qe & uid sianifia oo &
[T 1§

e Purple, Yellow, Black, Green and Red / 3'11'—?[, Tﬂ?ﬁ, DIdl, g1 QHFIWI'

¢ Blue, Yellow, Black, Green and Red / :ﬂ?ﬂ, Tﬂ?ﬂ, BT, B Td ATA

e Brown, Yellow, Black, Purple and Red / 43T, TﬂFIT, Pl ST Td drd

e Orange, Yellow, Black, Green and Red / qﬂ"ﬁ, Tﬂ?IT, DI, &Il t‘,a GIGE
Correct Answer :-Blue, Yellow, Black, Green and Red / 51dT, UIdlT, TdT, 837 €4 &1
25)
Question Stimulus :-

On 17" December 2016, Vijender Singh defended his WBO title in Boxing by beating .117 m? 2016 aﬁ,

fasiar Rig 7 gaaparsit A B gD fay I arelt WTa ST f&ara B sru A1 FHrar ferar
e Dean Gillen / 34 e
e Sonny Whiting / T ®TgfeT
e Kerry Hope | Y ﬁq
e Francis Cheka / WiTd TeT
Correct Answer :-Francis Cheka / oTRIS T

Topic:- General Computer Knowledge

1)
Question Stimulus :-
In MS Word 2007, If you press Ctrl + F from the keyboard. It will ./ MS Word 2007 ﬁ, Tfe 3T crl + F ETSIT‘Q' GIE|
e Open Find and Replace Dialog box with activating Find Tab / Find Tab G| Ef%ﬁzmﬁ BU Find and Replace
STYANT ST 31U T &

e Open Page Setup Dialog box with activating Layout Tab / Layout Tab Ca) m Fd BU Page Setup ITEANT
qiad 310 FHaT §

e Open Font Dialog Box with activating Font tab / Font Tab o) mm 8Y Font STAANT dTa 3T HdT %

* Open File Save as Dialog box / STUENT ST & T H File Save 31U HIdT %



Correct Answer :-Open Find and Replace Dialog box with activating Find Tab / Find Tab Ca| mﬂ' I BU Find and
Replace STAGNT STRT 3MUT Hdl &

2)
Question Stimulus :-

What does .com in the URL www.google.com mean? / URL www.google.com ﬁ.com DT HT GI?-f 3.']?“ %?

e It is a top level domain, derived from the word commercial / g T M TR FTSRA % L Qe commercial |
rqafd fear mar @

e 1t is a top level domain, derived from the word community / 9 TP Qﬂ'cf AN BT @h’ﬁ:l % m QUG community ﬁ
qafvd fFarmar 2

e It is a top level domain, derived from the word computers / g Th o wR &1 SR % g v computers 3
Jqaivd far mar g

e None of the above/mﬁﬁﬁg :Iﬁ

Correct Answer :-It is a top level domain, derived from the word commercial / 9g Tdh ‘\’ﬂ'& X BT ?ﬁﬁq % m oq
commercial ¥ adid far marg

3)
Question Stimulus :-

What is the purpose of Gridlines in MS Word document (ver. 2007 onwards)? / MS Word (35&'[ 2007 AT m 3

are) # Rredrs~ &1 w1 3234 @2
¢ To create and print a graph / T forue aur fife s
e To align objects in the document /Eﬂﬂ? | aﬁﬁaﬁ'w BT
e To create a background layout / PSS A3 ﬁ’_@ DAT
o All of the above / SURITT HHt
Correct Answer :-To align objects in the document / Gﬂa? | aﬁsﬁ Cal TelTg - BT
1)
Question Stimulus :-
In programming, which of the following is not a data type? / PIDIED ﬁ, frad d @ U el HELE ] 5
e Integers / 3?‘111'\‘?

. Boolean/@?ﬂ'
e Characters / G

o None of the above / Gﬁ?ﬁrﬁﬁaﬁs‘ :Iﬁ
Correct Answer :-None of the above / SURIGT H | aﬁ€ Tl
5)

Question Stimulus :-

Punched cards were first introduced by / U8 a"'léﬂ, LEL R ¥ gRT ufauifed fee Tu)



Herman Hollerith / g8 glafy
Powers / Uigd
Jacquard / TS

Pascal / 9P A

Correct Answer :-Herman Hollerith / 89 gAY
6)
Question Stimulus :-

Which of the following is not true about a static RAM (SRAM)? / ®efe® RAM (SRAM) & JeH # A & | «m

| 5l 82
e Tt is used as a cache memory/mmﬂ %@rﬁm"r%wﬁﬁm%
e It retains data as long as power is being supplied/ﬂ?ﬁﬁﬁ@ﬂm%mww\maﬁéﬂ'{ﬁﬁm%
e Itis quicker than DRAM / 4§ DRAM &1 3U&T al §laT 8
e None of the above /mﬁﬁaﬁiqﬁ
Correct Answer :-None of the above / SURIad H q HI§ T8l
7)
Question Stimulus :-

You install Windows NT Server on a computer, making the computer a backup domain controller in an
existing domain. After installation, you discover that you used the wrong domain name. What should you

do? / 39 HTER B TP HiN[gl S § §H3HY ST Helar a-1d §T FIE W Windows NT Server ST B3
g1 ST P 9IS, Y] UaT Iadl @ fb 3uA TP Tad SR A4 1 IUTNT 5a1 8 1 3y F1 B2

* Change the domain name by using Control Panel /ﬁﬂ' Uel T STANRT B Y ST A Eﬂﬁ'ﬁ
* Modify the domain name in the Registry / W A SR AW JMfYd s
e Reinstall Windows NT Server / Windows NT Server ®! fth3 & T B

e Change the domain name by using the Emergency Repair disk / S'Hﬁ TR fewr &1 SuahT Ha Y A
a9 gean

Correct Answer :-Reinstall Windows NT Server / Windows NT Server &1 fth3 | T e
8)
Question Stimulus :-

Which protocol does DHCP use at the Transport layer? / DHCP e wieteia &1 SuanT g‘mtﬁi‘ AW W Ham

22

e TCP
e UDP

e ARP



Correct Answer :-UDP
9)
Question Stimulus :-

Which of the following statements regarding HTML and XML is False? / HTML 94T XML & G d 9 @
S T 9 3T 82

e HTML is a markup language mainly for presentation

XML is a markup language mainly to transport and store data /
HTML TS A1h37 A7 g o Y81 ©U § Ugfaeur & fore gt @
XML U HIH3T AT g ol &I 77 A ST TRIUIE HI dUT R H & fag gt @

e HTML does not have pre-defined tags

XML has its own pre-defined tags /
oML ¥ gd-FefRa r i g &
XML # 5% A qd-FufRa e &

e HTML means HyperText Markup Language

XML means eXtensible Markup Language /

HTML &7 34 FIAT § W TRE AIH Y ATdel
XML &7 Y gT 8 Tae Rga A3y dvast
e None of the above/mﬁﬁﬂﬁﬁqﬁ

Correct Answer :-HTML does not have pre-defined tags XML has its own pre-defined tags / HTML | Qﬁ-ﬁﬂfﬂﬁ an

TE 1 ¥ XML # 50F 3 gd-AufRa dria @
10)
Question Stimulus :-

Slide Transition in MS Powerpoint can be applied to . / MS Powerpoint : mm x|

TS fhar o gt g1

Current slide / HIC WSS

Selected slide / AATE B §S WSS
All slides / T4t ¥E S

All of the above / SURYa T

Correct Answer :-All of the above / JURNad It

11)
Question Stimulus :-

What is the use of alt attribute in HTML? / HTML & alt Ufese &1 <1 SUANT 8T 82

o alt attribute specifies an alternate text for an image / alt Qﬁ?&? U Eﬁﬁ * ﬁl’Q’ U 3T TRT ﬁlﬁE’
AT 8



e alt attribute specifies an alternate link for an image / alt WW E'eITtI %?ﬁ-m Udh mﬁﬁ?ﬁﬁﬁ'
AT ®

o alt attribute specifies an alternate image for an image / alt E‘EEEE' U E'J?IF{ & ﬁl’Q Udh 3eee S'el\_r[ ﬁﬁsa
AT 8

e alt attribute specifies an alternate source for an image / alt 'Qﬁa]\? Udh S'eﬁl F "%I'Q' Udh 3eavc g ﬁﬁ&r
AT 8

Correct Answer :-alt attribute specifies an alternate text for an image / alt Q'w U g'l?ﬁf & ﬁl’E Udh 3T
e fAifdee wear 3

12)
Question Stimulus :-

What is a Trigger in Animations of MS PowerPoint (ver. 2007 onwards)? / MS PowerPoint @V&T 2007 dUT

3N 3T aTe) & TAERE § TR | g 82
A type of an animation effect for an object / fo<t ad & ﬁl’Q’ TPH YHR DI Qﬁ'ﬁ'&'ﬁ g&m:
A type of transition effect for a slide / ¥IIYS & ﬁl’@,’ gTer'Q'I""T E'W

An event which is activated either on click of an object or at a bookmarked point on a media object /

wmﬁmawmwmwmﬁnﬁﬁmﬂ%mm%wﬁém

None of the above / UG H H BIS A8l

Correct Answer :-An event which is activated either on click of an object or at a bookmarked point on a

media object / T T Sl TT <l Teh a8 W {1 b Ufdede 3 715 81 71 HifSan sifviae & ghAGS
WEe R
13)

Question Stimulus :-

Which command lists the contents of current directory of a disk? / P4 I} FHis fovd o Hie m?ﬁaeﬁ & W
&1 foree Tt B2

e Copy
e Tree
e Cd
e Dir
Correct Answer :-Dir
14)
Question Stimulus :-
What is an empty element in HTML? / HTML o T Th R E@'ﬂ? Eﬁ_clT %?
* An elements with no tag / no tag dTdl Qﬁ'ﬂ?

¢ An elements with no type / no type dTdll Q?ﬂ'ﬁ?



® An elements with no content / no content ATl E',T'ﬁ'ﬁf

® An elements with no comment / no comment dT¢ll E@'ﬂ?
Correct Answer :-An elements with no content / no content dTdll Eﬁ?
15)
Question Stimulus :-

You have 10 users plugged into a hub running 10Mbps half-duplex. There is a server connected to the switch
running 10Mbps half-duplex as well. How much bandwidth does each host have to the server? / 10 Mbps

BIP-FLA R T HA arell 89 A 10 YT WS 54 81 TP YA 10 Mbps BIP-§WHT I $1 a1 f&9 § A B
TAP R & U 9d¥ IR fpa-t Ssfagy 32

e 100 Kbps
e 1 Mbps
e 2 Mbps
e 10 Mbps
Correct Answer :-10 Mbps
16)
Question Stimulus :-
In MS Word 2007, which of the following is not the Section Break Option? / MS Word 2007 ﬁ, = 4 3 T AmE 9
AT 18T 82
e Next Page / ﬁwﬁﬁr
e Previous Page / WIfaad U
e Odd Page / 3Nes Ut
e Even Page /an'a\_rl
Correct Answer :-Previous Page / Wfaad U
17)
Question Stimulus :-

In Linux, what command is used to count just the number of lines contained in a file?/ ﬁrﬁw ﬁ, pIgd ﬁ Iﬁ'\_rjg GIERS) 3
TWAT B AT B & e g sHis o1 IuahT fFar smar g2

® WC—-r

® WC—W

® wWC-—-¢C

e wc-1
Correct Answer :-wc —1
18)

Question Stimulus :-



How to create a custom function in MS Excel (ver. 2007 onwards) / MS Excel @ﬁq 2007 dUT m 3 mﬁ) 'ef,
FeH BaRH S i far smar 32

e Select Formulas tab, click on More functions under Function library, Right click and Add New function / Formulas

9 e aﬁ, Function library & More functions U faa® aﬁ, NE foT® BV 3R Add New function TG DY

e Create a macro using VBA, and call the name of the macro just as in an inbuilt Excel function / VBA T IUART

P gU Aep! fbue Y, Al &1 a8l 919 & St 3T Excel aRH # gldT 8
e Both options A and B/ A G?R'Ba:ﬁ'

e None of the options above / SWRied & 4 ﬁ'{ qﬁ"f

Correct Answer :-Create a macro using VBA, and call the name of the macro just as in an inbuilt Excel function / VBA

BT SUURT Hd §U A1 fhue &3, A &1 98] 910 & ol 3TAeC Excel BRI # glaT 3

19)

Question Stimulus :-

In Excel, The name box of a selected cell ./ Excel § RIdiees 9d &1 AH i |
e Shows the location of the previously active cell / Ut m '\E]?r P AP 'ﬂﬂ'ﬁh GG %
e Appears to the left of the formula bar / ﬁ"iﬂT TR& ?sn‘§ MR ﬁ@?ﬂ %
e Appears below the status bar / ¥ed IR & e femar %
e Appears below the menu bar / ﬁ‘[ﬁ'ﬂ' CEiE ﬁ@?ﬂ %

Correct Answer :-Appears to the left of the formula bar / U’T\I‘Fi?IT TRF EI'I'{ 3R femar %

20)

Question Stimulus :-

In HTML, the <head> element is a container for ./ HTML ﬁ, <head> QFﬂ'ﬁ? _ a? 'I%I'Q' W Eﬁ?ﬂ %I
Links / foie

Webpages / ag ﬁﬁﬁ{

Metadata / HETSTET

Pictures / foamrf

Correct Answer :-Metadata / HeTSICT

21)
Question Stimulus :-

From what location are the 1st computer instructions available on boot up? / §¢ 3U R g diewE d ugd
IR TR IUAH Bid 32

ROM BIOS

e CPU

boot.ini

CONFIG.SYS



Correct Answer :-ROM BIOS
22)
Question Stimulus :-
In MS Word,“Ctrl + Down Arrow” is used to ./ MS Word ¥ “Ctrl + Down Arrow” T IUT fHaT STAT % -
Moves the cursor one paragraph down / HIAT B U aTI"JITW H= tl§i|ﬁ & ﬁl’Q
Moves the cursor one line down / B &Y U g CiE] 'qgilﬁ & 'RN'
Moves the cursor one page down / IR P U 'EEIC] 'qgilﬁ cg ﬁl'({
e Moves the cursor one screen down / R Y U A AR t@ﬂﬁ & f%nz
Correct Answer :-Moves the cursor one paragraph down / A B Udh WRAT® = TIE?-lﬁ & ﬁ'l"!

23)

Question Stimulus :-

Which of the following command is used to create a Linux installation boot floppy? / = o @ fra saigs @1
I TRy S¥eTARA 9 Wit fbue #v & fore foar siran 32

mkboot disk

bootfp disk

e ww and rawwrite

dd and rawrite

Correct Answer :-dd and rawrite
24)

Question Stimulus :-

In MS Excel 2007, when a label is too long to fit within a worksheet cell, you typically must / MS Excel 2007 ﬁ, 'Clﬁ ﬂﬁ%

A9 abRiie G | fhe HA & g srafye a1 5, @t smuspl falkme wud |
Shorten the label / ATd B BIeT HIAT T'-ITI%'Q

e Increase the column width / BITH BI iﬁ@'l's: EIE'F'ﬁ EI'I'%Q

Decrease the column width / BITH Bt iﬁ?ﬂ"q; HH BT ?II'%Q'

Adjust the row height / row height G| USSIRC hAT ﬂTI%'Q

Correct Answer :-Increase the column width / BTAH ®1 iﬁ?l'sf EE'F-ﬁ ?IT%T{

25)

Question Stimulus :-

Which of the following extensions suggest that the file is a backup copy? / freadas=ar E’ER'-I%EZ'H gdrd %.aT % fo
BISd aH3T iUl 22

o * bak



e * Dbas
e ¥ com
o * txt
Correct Answer :-*.bak

Topic:- General Logical Reasoning

1)
Question Stimulus :-

If Rs. 726 is to be divided among A, B, and C such that A:Bis5:4 and B: Cis 9 : 10, then how much will B receive? /uﬁ

726 BIA,B, MR CHTTTAARE A TIcAT e fF A:B,5:4 3R B:C,9: 108 3d: B B fba=m firam?
e Rs.270/270 =UU
e Rs.216 /216 =UU
e Rs. 240 /240 T
e Rs. 540 /540 ==UU
Correct Answer :-Rs. 216 / 216 3=JU
2)
Question Stimulus :-
Complete the series choosing the missing letters: / U (&R D &l L] T P
ABD, CDF, EFH,
o |JL
e FGI
e GHJ
e HIK
Correct Answer :-GH)J
3)
Question Stimulus :-

What is the time taken by a train, 300 m long, running at a speed of 90 m/s to cross another train of 450 m running at a

speed of 40 m/s in the same direction? / 90 Iﬂ/ﬁaﬂmﬁﬂﬁ?ﬁ, 300tﬁam°fq¢ﬁn@aﬁa¢ﬁﬁmﬁ4o A
Dt AT A T Tt 450 W T T =g YAST Bt B (WD) A A fha=n gwg ame?

o 15sec /15 AP
e 16sec/16 HHS
e 17sec/17qAHS
e 18sec/18 AHS

Correct Answer :-15 sec / 15 B S



4)
Question Stimulus :-

Find the average. / 3N fRpTferd |

41, 33, 59, 39, 37, and 49.
e 44
e 51
e 41
e 43
Correct Answer :-43
5)
Question Stimulus :-
Find the odd one out: / Th fauw ATd ﬁﬁnz:
e Square /aff
e Triangle / ﬁﬁﬁ
e Cube/9Yd
e Rectangle / 3I”Ad
Correct Answer :-Cube / ¥
6)
Question Stimulus :-

If REGIME is coded EEIGMR, then how is LAGAAN coded? / Tf& REGIME &1 EEIGMR | HITSd fordT SITdT §, a1 LAGAAN

@I $A Pifsa fovar s
e LAAGAN
e ALAGNA
e NAAGAL
o NAAAGL
Correct Answer :-NAAGAL
7)
Question Stimulus :-

| could buy a book that was priced Rs. 80 because | was offered a discount of 16%. How much did | pay? /& 39 fparg

&1 Wt urar for e W g 80 = 3ifdra o1, FAfE g3 16% B e firedt <5t 77 fpamn ywrar= fware
e Rs.12.80 / 12.80 74T

® Rs.67.20 / 67.20 ¥UQ



e Rs.50.00 /50.00 3>qU

* Rs.92.80/92.80 %UU
Correct Answer :-Rs. 67.20 / 67.20 ==UUQ
8)
Question Stimulus :-

In a certain code /i eb eep means roses are blue, kis eeh means red flowers and eep tim eeh means flowers are vegetables. /
forat FAfda drs A ieb eep PT Hddd % roses are blue, kiseeh dT Hddd % red flowers 3T eep tim eeh BT Hddd %

flowers are vegetables %I
Then how is red coded? / T red Y $A HISd HIA?
e eeh
e kis
e eb
* none of the above / G’ﬂg%ﬁ##?ﬁff?ﬁ
Correct Answer :-kis
9)
Question Stimulus :-
(18/9) x 11 + (27/3) x 4 + (4 x 3) - (54/2) = ?
e 40
e 35
e 30
* 43
Correct Answer :-43
10)
Question Stimulus :-

Which of the following words can be formed from all the alphabets of the word 'Strategy'? / 'Strategy' Rlegq & Tt GI&Iﬁ

I g & @ oI 91 Weg 949 JhdT &2

e Tray Gets

Stag Tire

Gas Trip

Stage Trim
Correct Answer :-Tray Gets
11)

Question Stimulus :-



There are three sections A, B, and C in an examination and it is necessary to get at least 40 % of the total marks to pass the
exam. A candidate got 84 out of 120 in Section A and 40 out of 150 in Section B. State the minimum score the candidate

has to obtain out of 180 in Section C in order to pass the examination? /Wq'ﬁ&‘ﬁﬁ' daEs A, B, 3R C %Gﬁ?ﬁ&ﬂ

o Ifiof 89 & R o Siahl BT 40%, U BT STIRAD 21 A 3G Bt Ts A H 120 T | 84 37 U g¢ iR

gi-s'sﬁ 150ﬁ'%® 40 3 YT §UI 98 YATH B R ga1gy, ot Aaff ol Wien s s s R @s cd 180 A
YT dRAT 5l

e 32

e 44

e 56

e 64
Correct Answer :-56
12)

Question Stimulus :-

In the sequence shown below, which figure comes next? / A TEs T A
H. 33Tl 3ThId HieT | 3?2

7

1 n m v




=
Wt

i :‘1\.\; e
w

H
o
R

NN

‘ih\&

AR
b

N

Correct Answer :-
13)
Question Stimulus :-

If 18 men can finish a job in 26 days, then, in how many days will 13 men finish the same job? / 'Clﬁ 18 Gﬂa'lﬂ Wﬂ"l'&

B 26 fo11 & RT H Thd B, A1, I F1d B 13 3wl fpram fo= & T H3?
o 36days /36 fe
e 19days /19 ﬁT'I'
o 25days /25 e
o 22days/ 22 &
Correct Answer :-36 days / 36 feq
14)
Question Stimulus :-

In the following series of numbers, find out how many times, 2, 6 and 8 have appeared together, 8 being in the middle, 2
and 6 on either sides of 8? / T P} fr7 gRaan ®, yar @ b AT fpa-it a° g3 2 f¥ 2, 6 37 s T-ATY
Y & forad s fw A 3, aur 2 3R 6, 8 F A 3R &2

7026826228668261428622826093
e 2
3
e 4

morethan4/4ﬁ3|ﬁl?53'l?

Correct Answer :-4

15)
Question Stimulus :-

The average age of a father and mother is 22 years. Four years hence, the average age of father, mother, and their son will
be 18 years. What will be the age of the son at that time? / Foar Gﬁ?’ HTdT Bt Gﬁﬂ_c[ 31y 22 a¥ %I IR ad dlq, ﬁ?IT,
HTAT, 3R 31 9 B 3ad Mg 18 99 g JRft | 3H THT 9 Pt 3T F1 gHft?

. 4years/4a'l3f



e 3years/3 GL
e 2vyears/2 a'ﬁ
e lyear/1 EL
Correct Answer :-2 years / 2 ay¥
16)
Question Stimulus :-
The product of 1014 and 986 is: / 1014 3R 986 BT [UFTHH &:
e 998904
e 999804
e 998814
e 998804
Correct Answer :-999804
17)
Question Stimulus :-

Five men Ajay, Brajesh, Chetan, Deepesh and Suresh read a newspaper. The one who reads first gives it to Chetan.
The one who reads last has taken from Ajay. Suresh is not the first or last to read. There are two readers between

Brajesh and Ajay. To whom does Brajesh pass the newspaper? / 5 3eHt 3y, aﬁ?r, aT'FT, ﬁ'ﬂﬂ\iﬁ?ﬂi’ﬂw
AR USd €| 98 Sl Ugd USdT @ I & & 3aT 31 N SRt & usdr 8, 39 3o | ram g1 g1 e aran
UGl T AT 76T 81 ToIRT 3R o1y & 9 g Urod 8 | Foisl fvd 3Raq aaT 32

e Ajay/ 3ol

e Chetan / dd+

e Deepesh / ﬁﬁm

e None of the above /BTTQT:H ﬂﬁ_{ qﬁ
Correct Answer :-Chetan / da+
18)
Question Stimulus :-

The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / = ﬁ 11%

yaer o &Rl 3R IBSil BT UH W faar T B | T A ggaia:
i. 010ji099i9u7y ii. 010ji099i9u87y iii. 010ji099i9u87y iv. 0l0ji099i9u87y

o i

e jii



Correct Answer :-i
19)

Question Stimulus :-

Complete the series choosing the missing number: / &l T&AT gD @l Cal T P
1,9,17,33, ____ ,73
* 50
* 49
e 45
* 60
Correct Answer :-49
20)
Question Stimulus :-

If TWELVE is coded 863203 and TWENTY is coded 863983, then how is ELEVEN coded? / Tf¢ TWELVE PY 863203 | PIfsd

o SITaT 8 3R TWENTY 37863983 | IS fpuT SITaT 8, Y ELEVEN T $A HIfSa fHar smam?
. 724532
. 323039
. 230393
. 273452
Correct Answer :-323039
21)

Question Stimulus :-

If the following two squares shown below overlap, which one of the following

options is formed? / Ifg A fT@™ a1y e 997 wfA=aiug &k ar
AT & & *la o1 AFeT gaem

<=
gﬂﬂ% gl




o

Correct Answer :-

22)

Question Stimulus :-

The series given below contains a sequence of numbers. Identify the incorrect combination: / Lk ﬁ Tlé WT | H&ﬁ
IR e ®1 UH wH fan war g1 Tad Jaie uganta:

1,3,7,15,31,64

e 15



e 31
e 64
e 1
Correct Answer :-64
23)
Question Stimulus :-
The LCM of 3a, 2cd, and 5b is / 3a, 2cd, 3% 5b BT Y<H TUTYGd P BT 8
e 40 abcd
e 10 abcd
e 15 abcd
e 30 abcd
Correct Answer :-30 abcd
24)

Question Stimulus :-

3
There are 550 studentsin a school, — of them are girls; Find the number of
&

girls and the fractional part of boys in the school. / Tdh ﬁﬂ'ﬂ]ﬂﬂ # 550
Tacanf § 3980 & %?@W% TacaTera # sl &1 {9 AT
IGEIEE]]

330,

L | k2

300,

L | =

320,

L |

310,1

330,
Correct Answer :-

L | ko

25)

Question Stimulus :-

(260 x 1-46 x 2) /(4 x2) + (79/4) x 4 =2
e 200

e 100



e 228
o 242

Correct Answer :-100

Topic:- General Management

1)
Question Stimulus :-

Which of these types of off- the- job development methods help to change the behaviour through unstructured group

interaction? / $TH ¥ HTY-J-aTex faerd faftral &1 H19 91 YR, qagR &1 SRR Hg & ara<id grRT
uf¥afda s | TgradT w1 82

Simulation exercises / STIPIRD A WTH

e Transactional analysis / ﬁq%qa'q'?ﬁ fazayor

o Sensitivity training / Hdg-A=iadar uiRigror

Conferences /Wﬁq

Correct Answer :-Sensitivity training / Tdg=iterdar ufieor

2)
Question Stimulus :-

If an individual has the ability to solve a difficult situation by doing analysis and deep diagnosis, then they have

skills. / Tfe Uep aafa & fageivor iR g+ e gRT &fo+ fRufd 1 TH1U= 31 9 ¢Hdr 8, a9
I P g

Technical / GEXICdl
Interpersonal / Jadufaas
Leadership / ﬁaﬁ' 3|

. Conceptuallm

Correct Answer :-Conceptual / SHIATHD
3)
Question Stimulus :-

Prepaid insurance is shown as in the balance sheet. / eI TUA - | 'l]\aﬂ?[ Cip Gl & Y - |
feara man 81

Asset / gfeduf
Liability / S gR}
Capital / USil

Profit and loss account only /WWH@GT&TE‘I?[

Correct Answer :-Asset / Uf¥aafy

4)



Question Stimulus :-

Three essential skills identified by Robert. K. Kalz for managers are/ aC . PTed GIRT USUD| %ﬁ«rq Uga™ RI1E
A 3w SR g -

e Technical, controlling and organizing / ae-Iet, T oiR emaeH

e Organising, conceptual and research / 3T, ITIRF 3R Y

o Technical, Human and Conceptual / &1, AT 3R TRF

e Research, Human and Conceptual / 3[HUT, AFT 3R i
Correct Answer :-Technical, Human and Conceptual / Hﬁﬁ, A4 3R e
5)
Question Stimulus :-

The statement prepared to determine the profit or loss made by a business is called the . / b IqdTg

SRT AT A1 31 Y F1uifia #33 & g darR 3= HEAAI gl
Statement of affairs / ufa faazor

Statement of operation / ufvare faavor

Statement of profit or loss / TITH T gIf+ faavor

All of the above / SWRIad gaft

Correct Answer :-Statement of profit or loss / ATH T g1 faawor

6)
Question Stimulus :-

Trial Balance is a / cTad I (P frar) gl
Statement / faavor

Account /ﬁm

Summary / ARSI

Ledger / Eﬁ ECIGL

Correct Answer :-Statement / faazor
7)

Question Stimulus :-

Which of these elements of leading makes the role of subordinates clear? / ﬁﬂﬁ' Q?E:Iﬁ' J GaE| | ucdh, 3 BiE )]
B YFIHT I T 919 82

e Providing stability / FRRET Y= &1
e Motivation / TRoT
e Utilizing resources / TTEAT & SUEHT



¢ Goal setting / TI&I P RITTT
Correct Answer :-Goal setting / T&I B RITHT
8)
Question Stimulus :-

Interest on loan paid by the business to a financial institution is an example for / T fodita = P! AMUR GRI
W& B R TS T ISTE1 8 -

e Expense / IY

e Income / 3T

o Asset/Uf¥EUfI

e Liability / ¢GRI
Correct Answer :-Expense / o9
9)
Question Stimulus :-

Which of the following enables a business to create roles by linking a person to an activity? / frrad '\QWW@%

o1 fafafy A siteq & gRT Yfrerai & fAutor & fie soaara &t 9em s9ma7 82
e Organizing / 3T
e Delegating / YT
o Diversifying / fafadhw=or
e Planning / RIS
Correct Answer :-Organizing / 3o
10)
Question Stimulus :-

Which of the following is a major use of management-level systems of an organization?/ fFafafea A ¥ S ar Udh
TS & YU T DI YUITSlt BT UG SUANT 82

¢ Supporting long-range financial and resource planning activities / S fere faxita 3R T YIS
[ 1 qHYH BT

Supporting the monitoring, controlling, decision-making and administrative activities of middle management /

AW yaeE ot R, frdan, fofa fmfor siv wmafee nfafaftmal o aad= ves s
Supporting knowledge workers and data workers / SITHBIR FHARAY 3T o1 Hial H IadT %=|T|
Monitor the elementary activities and transactions / wrufire nfafaftmay sz e 9t AR

Correct Answer :-Supporting the monitoring, controlling, decision-making and administrative activities of middle

management / 0¥ Uit $Y fARTR, fArizon, fofa fAafor ok wemafee nfafafima) @ gwda veq s

11)

Question Stimulus :-



Total current assets of the business are INR 400000 and current liabilities are INR 200000. The current ratio is /

IR B Ho ITAT URIIURT 400000 0T & T adHTT SEIRAT 200000 7T & | TAHT T &
o 2:1
e 1:1
e 0.5:1
e 3:1
Correct Answer :-2:1
12)
Question Stimulus :-

involves consistent repurchases and preferences for specific brands./ H AR LGH

3% fafRme st & forg wrufireard i &1
e Brand Loyalty / s fassr
o Brand image / &S Bfd
« Brand personality / S safeae
e Brand recall / §is amat
Correct Answer :-Brand Loyalty / §iS freaT
13)
Question Stimulus :-
The objectives of capital expenditure budget is / U g ToIc b ST © -
e Estimate expenditures / Y Glﬁ'q'lﬁ?l' HIAT
¢ Determine capital projects /g?ﬁ ufearerTe &1 fHufor s
e Overlook expected rate of return on each project / TP UNRIISHT R Ufdwrd ot 3rafdd g & IueT H31
e Prevent cost over run on projects / ufareTe W 3if¥e @rTa # I @

Correct Answer :-Overlook expected rate of return on each project / TS Ui IR ufawd &1 3riféa e
B SUT AT

14)
Question Stimulus :-
BCG matrix was devised in the year / STToit ﬁﬁ?\q BT ATFAShR 39 a9 F o war U7
* 1970s
* 1980s
* 1960s
e 1950s

Correct Answer :-1970s



15)
Question Stimulus :-

If the actual performance of a product or service exceeds the expected performance, the customer is

émugmmﬁmmmm,mmwmﬁmwﬁm%am
|

Neutral / &

Angry / FIRTS

Dissatisfied / 3THJY

Delighted / U949

Correct Answer :-Delighted / Td
16)
Question Stimulus :-

are responsible for implementing the plans and strategies for the accomplishing the
organization goals/ e & A& B U H31 & g, Aot 3k srffifeal &t any ¢4 3q
s

Middle level managers / T &R & YaU®

Front line Supervisors / 3RTUfR Tder®
Officers / 3fU®RY
Technical supervisor /| T®H-I®1 THdeH

Correct Answer :-Middle level managers / HH R & yEU®
17)
Question Stimulus :-

Which of the following roles of HR involves record keeping and legal compliance? / IBCEE:] Ud3R Pt

Yfrent, Sifieia HHTeM MR ST SrguTe &) WTfire Sd! 82
e Service provider /ﬁm YgrdTl
e Consultant / HATghIY
e Administrative expert / mﬁ?m
e Auditor / ﬁ'@w&w
Correct Answer :-Administrative expert / uvnvﬁﬁ?ﬁl\ﬁw
18)
Question Stimulus :-

Which of the options would be the ability of an organization to conceive of and implement its strategies? /

g # A P19 1 fareu TP Wired 31 SRl B Udbe FA 3R I AR HIA B &HdT SRIT?

o Strength / araaf



o Weakness / HSIRI

e Opportunity / dIY

e Threat / 3TRIDI
Correct Answer :-Strength / et
19)
Question Stimulus :-

The theory of motivation that argued that individual needs form a five level hierarchy has come to be

known as / SN &1 fygia, foraa o f3an i aufd Y sievd uie W uergew Affa st § seamar @
e Maslow’s Hierarchy of needs / AT BT AT Hdl YardsH
e Hertzberg’s Two factors theory / E'é\_lﬁ"f o1 fgopre Rigia
e Alderfer’s ERG theory / TASWHR $T ERG Rigia

e McClelland’s Needs Theory / A@aaids @1 Sraxadbarsi &1 Rigid
Correct Answer :-Maslow’s Hierarchy of needs / AR BT ATa=IHdT YarqsH
20)

Question Stimulus :-

Under Maslow’s need hierarchy: Air, Food, Shelter comes under which need level? / A B ATIg DT YarqsH *
Srafd: arg, WS, STaTH P9 | ATTRIDH T W= &b feid 3Td 82

Self actualisation / TG ATTIHATE

Social / ATHTITS TAIHATT

Safety and security / JR&IT TAYDATY
Physiological / TRRThUTH® STaaehdrg

Correct Answer :-Physiological /‘«’I’\ﬁ?ﬁﬂm & IGRUE T Y
21)
Question Stimulus :-
A Cheque is a kind of / 9%, TP YR &1 gl
e Promissory note / dd-1 U

Bank draft / S ST0

Bill of exchange / ICIBCURE

Demand draft / {7 STUC
Correct Answer :-Bill of exchange / fafra o
22)

Question Stimulus :-



Pick out an example of durable consumer market from where consumers buy products of longer life/ T

@1 STHIT TR & IRV T TUF HIY, 6T I IUHITIT dd 9 a9 Ia aTdl JAG1 DY @RIgaT g |
e Biscuit/ faf&pe
o Facial Cream / %3‘{ @t aﬂ'q
e Tooth paste/ g
e Motorcycle/ m
Correct Answer :-Motorcycle/ Iﬁmﬁﬁﬁr
23)
Question Stimulus :-
Which of these refers to e-commerce? / 37'|1}I o %-amﬁ 3 Hﬂ'ﬁh %?

o Refers to full breadth of activities included in a successful internet based enterprise / WWW 3murfyd

I | =t wfafafimay @t qof sarawar

o Refers to employing different categories of employees who are heterogeneous in terms of race, ethnicity /

HHarval ot fafis Aforat s f srfa, 95 & snur & fauw 21

o Refers to the business operations based on electronic mode of transactions / TGRS Gfehar S| ﬁq%q Cai
AT -P NPT U MMemfd 8

o Refers to the business operations that are no longer restricted to a particular locality or region / SUTUIR BT Jarad

<11 fop ora wes fafRiy w1 a1 &= 9@ ufadfia a8t 81

Correct Answer :-Refers to the business operations based on electronic mode of transactions /WTW Tfspar =it

A9 BT FARI P aiidT W 1T 3
24)
Question Stimulus :-

A set of people who possess similar skills. They use the same knowledge, tools or techniques to perform their jobs. They
work together in a group. What do we call such a group? /?ﬁ"ﬁ Caj '\"-I'H\?\_rﬁ THTH P 1@l %I at IHT I,
SUBIUN 3R TH-ID] BT TAHT B §U U1 HTH Hd &1 A Jft a1 9 & &0 Fed &1 VX JUg & g9 |
Fed 82

e A company / Wﬂ?’q:ﬁ

e Employees | FHETY

e An organization / U JRIT

e A department / Wﬁ‘lﬂ'ﬂ
Correct Answer :-A department / T favmT
25)
Question Stimulus :-

The formula for the Capital Asset Pricing Model (CAPM) is: / QFﬁTI?l' ufeiuf G frufzor atsa
(CAPM) & F@ g 8 :

e Kj=Rf+b (Rf—Rm)



e Kj=Rf+b (Rm-Rf)
e K=R+b(R-M)
e« K=R+b(R-R)

Correct Answer :-Kj = Rf + b (Rm — Rf)



